
For Technical Support/Warranty Information please call 310-762-9944 
 

Smittybilt, 400 W Artesia, Compton, CA  90220 

Installation Instructions:  
(Part # SB79858) 

JT Gen 2 Rear Bumper Installation 
JEEP Gladiator 20+ 

Revised 05.27.20 

 

Parts Included Qty ID 

419TU102 BUMPER SHELL 1 1 

419AA300 LICENSE PLATE MOUNT  1 2 

419AA400 WELD BOLT PLATE 2 3 

419AA500 ROCK SLIDER NUT PLATE 2 4 

419AA111 SB LOGO BACKING PLATE  1  

9750K450 STORAGE CUBBY PLUG  1 5 

SB79858-03 HARDWARE PACK  1  

M8(1.25)X25MM FHSCS GR8.8 BZNC 14  

M6 HEX NUT  2  

M12 NYLOCK NUT  4  

M12 FLAT WASHERS 4  

M12 PLASTIC RETAINING CLIP  4  

M10(1.5)X25MM HEX BOLT GR10.9 4  

M10 FLAT WASHER  4  

M10 SPLIT LOCK WASHER  4  

M6(1.0)X 10MM BUTTON HEAD SOCKET SCREW  4  

NOTE: Carefully read entire instructions thoroughly before attempting to install this part.  

NOTE:  You will need to purchase OE Rubicon JL backup sensor sockets and retainers 
from your local dealership, 

5 

1 

2 

3 4 



For Technical Support/Warranty Information please call 310-762-9944 
 

Smittybilt, 400 W Artesia, Compton, CA  90220 

Installation Instructions:  
(Part # SB79858) 

JT Gen 2 Rear Bumper Installation 
JEEP Gladiator 20+ 

Revised 05.27.20 

INSTALLATION: 
 
Step 1:   Starting on the  Rear driver side, Disconnect the Hitch wire harness connector 

from rear bumper (Fig. 1). Disconnect the license plate light connector and re-
move cable ties from frame (Fig. 2, 3 & 4). 

 

 

Hitch harness Remove 

Fig. 2 Fig. 1 

Discon-

Fig. 3 

Remove 

Hitch harness 

License plate connector  

Fig 4 

NOTE:  Park vehicle on a flat level surface. Apply parking brake and chock all four wheels. 



For Technical Support/Warranty Information please call 310-762-9944 
 

Smittybilt, 400 W Artesia, Compton, CA  90220 

Installation Instructions:  
(Part # SB79858) 

JT Gen 2 Rear Bumper Installation 
JEEP Gladiator 20+ 

Revised 05.27.20 

 
 
Step 2:  If equipped with Back up sensors disconnect wiring harness from passenger side 

and remove cable tie from frame (Fig. 5). 

Step 3:  Remove license plate and unscrew (2) OE M10 bolts  See (Fig 6). 

Fig 5 

Back up sensors connector  

Cable tie  

Fig 6 

Remove OE M10 bolts  



For Technical Support/Warranty Information please call 310-762-9944 
 

Smittybilt, 400 W Artesia, Compton, CA  90220 

Installation Instructions:  
(Part # SB79858) 

JT Gen 2 Rear Bumper Installation 
JEEP Gladiator 20+ 

Revised 05.27.20 

Note:  If your vehicle is equipped with OE bed rock rail guards continue on step 5  
           If your vehicle is not equipped with OE bed rock rail guards continue on step 6  

Step 4: Remove (2) T50 torx head bolts connecting the lower center section of the rear 
bumper to the OE hitch See (Fig 7). 

Step 5: Remove (2) M10 Bolts from each inside corner of  rear bumper See (Fig 8). 

Fig 7 

Fig 8 

Remove (2) T50 Torx head bolt  

Remove (2) M10 bolts  



For Technical Support/Warranty Information please call 310-762-9944 
 

Smittybilt, 400 W Artesia, Compton, CA  90220 

Installation Instructions:  
(Part # SB79858) 

JT Gen 2 Rear Bumper Installation 
JEEP Gladiator 20+ 

Revised 05.27.20 

  

Step 6:  Remove (2) OE nuts  per side securing the rear bumper to the frame rails And   
              Carefully remove the bumper from vehicle  See (Fig 9). 

Step 7:  Remove license plate light from OE bumper  by prying three clips from the license         
plate light bracket then pull the light bezel from the front of the bumper. See (Fig 10,11) 

Fig 9 

Remove  Nuts  

Fig 10 Fig 11 



For Technical Support/Warranty Information please call 310-762-9944 
 

Smittybilt, 400 W Artesia, Compton, CA  90220 

Installation Instructions:  
(Part # SB79858) 

JT Gen 2 Rear Bumper Installation 
JEEP Gladiator 20+ 

Revised 05.27.20 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
NOTE: Be sure to note the orientation of the back-up sensor retainers in the OE bumper 
prior to removal for reinstallation. 

 
Step 9:  Install the OE back-up sensor sockets into the mounting holes on the rear bumper  
              See (Fig 13) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
NOTE: For vehicles without back-up sensors, install block off plugs provided with the             
bumper, into the JT Gen 2 bumper instead. 

Step 8:  Unplug the OE wiring harness from the OE backup sensors and remove the OE back-
up sensors by spreading the back of the sockets, where clipped over the sensor tabs, while 
pushing the sensors out from the front.  (Fig 12)  

    
Spread Sensor Tabs 
and Push From Front 

Fig 12 

Fig 13 



For Technical Support/Warranty Information please call 310-762-9944 
 

Smittybilt, 400 W Artesia, Compton, CA  90220 

Installation Instructions:  
(Part # SB79858) 

JT Gen 2 Rear Bumper Installation 
JEEP Gladiator 20+ 

Revised 05.27.20 

 
  

 

 

 

 

 

 

 

 

 

 

  

Step 10: Install the previously removed OE back-up sensors into the OE backup sensor           
sockets, using the OE retainers, according to their original orientation in the OE bumper.  
See (Fig 14) 

Fig 14 

OE  
Retainer  

OE Backup 
Sensor   

OE Backup Sensor 
Socket  

Step 11:  Install the previously remove license plate light to your new JT Gen 2 rear 
bumper  by sliding the light trough the license plate light pocket.  See (Fig 15)  

License plate light pocket  

Fig 15 


